
SAP ABAP table T012 {House Banks}

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

BANKS [CHAR (3)]

SPRAS [LANG (1)]

BUPLA [CHAR (4)]

J_1BBRANCH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BRANCH [CHAR (4)]

 T012-BUPLA = J_1BBRANCH-BRANCH 0..N

1

T000

MANDT [CLNT (3)] T012-MANDT = T000-MANDT 0..N

1
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 T012-BUKRS = T001-BUKRS 
0..N1

T002

SPRAS [LANG (1)]

 T012-SPRAS = T002-SPRAS 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 T012-BANKS = T005-LAND1 

0..N

1


